R? I FI2FE2AFTREL 2FLFT N

N
AyEE D R/
3;;1 WH - TN

S E o E R
EHF1IZrFELE (% 280E% 27 ) B 1% > Ky VR
PERATEA B X 22 KT PR A0 i REFTHREZL D F
#’IJLIQ}?%‘gAﬁé,u?é‘)l ’F%%E"")lei]“}"rfﬁ’ﬁlﬁ R A

25—

& 2fFEd PR

s TR P e 8L

PR C102# 9% 13p (1)

WEL D EEEIN SRS FE 168 LR P 1 4 &
Y%z 305% (A¥%) 2 k%% 106 3 (B#)

Ji

Y
EZ23B R AR RBRIHRET TV IRATEL R (RBR LT
B34 2 LA ).
j ~ }Ilz %(%E.
?ﬁ FREFEIIRITIEEL o
SR EFERAREIBERA (BIT) LB (L)1) H - F e
2T ‘2;_;1 % B

HT MR ERRE >FLRT VRS -
AR T VR BT R ,,],ﬁad, oA BETRE AT E LB o

&

-

B §r 24 {6 BB & E-mail 2 A3MRESR A o
sﬂzéﬂ 1024%8’5 24~31 p (% & 1b)

B3 32 A ﬁwt 4 2“5k e 0 735 1 05-2720411 # 52103 % 52001
E-mall admlyn@ccu.edu.tw s i@ & : 05-2722249

-3F + RFRIEFEg AR FIT A ML AN RRET

-------------- PI-BI02FERFHFZ 2L HT P LA -
AR %‘3 EH

M4 Ep LT

B oyt

H T L

ks E-mail

s % A% [BH



mailto:admlyn@ccu.edu.tw

128 frf&%3% 2t Ry yRERL (AF)

102.07.29
p Hp FF R noE 3 BL
08 : 20~ 09 : 00 £l
9 09:05~ 09:20 | ¥ N (ke BxEimzdvimz) |[EF%%305%
] B® ',FL«‘ ‘b s &
09 : 20~10 : 10 HREW R £ F %% 305 3
13 =P 48 fFre EE5 9L
p B A 2 | L A R
10 : 20~11 : 10 RARIEFREAL hw %% 305 3
/ Rz r <~ FREd o 1§inEi
A
FEYFTBAE (ZBF &5 ~Rd) |,
11 : 20~12 : 10 e ) 2%z 305 %
¥ FLFE S BTk D IR #3
12 : 10~13 : 40 B R
B >iEd PR koA
13 : 40~14 : 30 RREX 2L P2 5 b AT £ %% 305 %
A REA S RE GRS § E gL
T Mt R
14 : 40~15 : 30 S + k%3 305 3
cBERLPE R LAk
Qo %#\5 - ;é\"i‘:’;
15 : 40~16 : 30 R A = £ 3 305 3
LA EFaa bk
16 : 30~17 : 20 P B 2%z 305 3




125 ErF%E% 2Fs

Yy REARLE (B3F)

102.07.29
p Hp P noE 3 gk
08 : 20~ 09 : 00 R 3
9 09:05~ 09:20 |3 N (2@ %imay o3 FrE) |2 k%3 106
3 B
09 : 20~10 : 10 Laite T 2 %% 106 7
13 Wz ® & 45k -k
10 : 20~11 : 10 HREF AL &S Y%z 106 3
/ Bavd 28 fFke EB5 0L
B
BEE X >t PN A
g | 11:20~12:10 WAwER DL w2 S b AT £ %% 106 3
POAHHAE B ¥ BRI
12 : 10~13 : 40 EY 3%
A w Tl AN 351 B I
13 : 40~14 : 30 R v Y%z 106 3
Rz x B e 1§77 Ek
'}\' Ny %#‘;» E’T:l;
14 : 40~15 : 30 R A = 233 106 3
EEBN R EFaa bk
Z it E R
15 : 40~16 : 30 = = 2%z 106 3
SRERL PR ARCH
16 : 30~17 : 20 P £ k%% 106 ¥

FHaeRE R 913+ = 08¢

202 T =2 1:20 535 -




